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Please envision the standard safe 

harbor statement from Oracle here 

to protect Steve Job  



Å A Quick Review of ASO  

Å A Bit About Memory Management  

Å Speculation About How Hybrid 

Works  

 

Å Your Questions  

Todayôs Session 



¸ A Quick Review of ASO 

¸ A Bit About Memory Management 

¸ Speculation About How Hybrid Works 

 

¸ Your Questions 

Todayôs Session 



Really?  Youôve looked inside the computer 

and seen an ASO cube? 

Who Has Seen an ASO Cube? 



Still made and 
used for field 
identification of 
minerals.  

 

Similar guides 
are available 
for Trees and 
Birds.  

An ASO Cube You Can Hold in Your Hand 



Holes represent metadata presence; notches represent absence. 

Note notches for all levels (67510, Abbyville, Kansas and Central). 

                                  Query for Check and Adult = ((Check) AND Adult) 

Card Used With Sorting-Needle 



Cards with holes are pulled up and used for next part of query; cards 
with notches fall out.                       Check and adult = ((Check) AND (Adult))  

Data Is Queried Using a ñSorting-Needleò 



Patented Multi-Processor Sorting-Needle 



ñYou can never be too rich or too thin.ò 

Wallis Simpson  

 

 

Disk Speed, CPU Speed and Ram 

http://www.brainyquote.com/quotes/authors/w/wallis_simpson.html


¸ Both Unix and Windows cache files in memory 

¸ Separate (and somewhat redundant) vs. 

familiar Data and Index caches 

¸During data load, both input file and output pag, 

ind or dat files are cached 

¸Called memory mapped IO 

¸ Seen in Windows Resource Manager or on 

UNIX in top or nmon: 

Memory Management  



Memory - Resource Manager 

Ģreen is program memory including explicit caches 

Ḑark blue is memory mapped IO 

Ļight blue is memory not being used 



¸ top 

Memory ï Unix:  top or nmon 

¸ nmon with m (memory) option  



Memory ï Just for Fun 
Load = Physical Drive 125 eff threads 

 

Load = SSD Drive 125 eff threads 

 


